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C.Numericals 

2 car covenka distamce of 16 ekm 

beweem twe.cities, dn, 4R.hha 

es che aMerage cspeed &f okhe caz 

ansPistance- I60km 
Jme taelled =4t taken= hh_ 

Aorage po0d_Jotol di2tance tanelled 
Jotal time tak e_ 

t6 40 A0kmh 

& train tzaels, a ditance ek 30tkm 
wicA anv aenoge opcod of 60 kmhdtlane 
much Ame deei Itbake e cenon Ahe 
Ldisteunce ? 

0ns-DitanceCovored lay troim=300 km 
enageped e cbroln=bakmk 

Tme taken lpy oin istoncR Ceeied 
pea 



&90 5 

5h 

im, staken i Shoun. 
3 A bey taels. with am amerage cpoco p 

1Ognsen 0 nmin.tteo much oistemee dse che traMek 

ama- Distance = Speodxtime 
lOms x O min 
10 x ]2O0 

1090m 
-19km 

H loe wales a dllgbance e 30 m in lm CUmd anóthe) 20m in I.5 min,&escribe Ehe 
type of METion oie bey anagind hib aver C&peed cin ms", 

ans 4t As aa nem-wniem becamse b yanels eqmaR dLstamces dn twneal otistan irteual3 time. 



Dnge 

=Awraqe speed = Jotalsir Distaneo kraveled 
Total ime taken 

20t30 60=0,4 mS 
150 

5A cuclist otaels a distance ef lkm in' 

tie s6inst hewr, D.5 km in the second 
cheuh and .3 Kn Ln the thind hun. 
inatheAMerage &peed efEhe cyclit 
in 12 kommh {)ms 

ars 1venage speed lkm +D.5kmt 0.3kr 
ht lh+Ih 

.8=D.6_mkmh 

1> He1age LSpecd = |0m5£0n t 30m 

O800 



6 A catrame ls with a epced SOkn h 
30 minutws and then oittna spea zpo 

to km ome how 
ed 

Q total distance bronellod b C 
Ehe botal ttme o tme tromOX 

the amenage sp�ed D6-can 

20kmh 
Spee 

pced gef can er 20 min , 30km h*i 
Aeed Rer e he = t o knah 

Speed -Disteanee - Speed x Eime 

Oxb.5 As 90 min i8 halß en ew) 15 kmn 

Speed - o km h 
Dis-tance 
taR Aistence 

Aokm 
40+15 SSm 

Jeal timetraneQ Ih- O.Sh = 13h 

cAnenaqe speed- TotaR iStamere Tavelel TetaQ ime trauelled 
SSkm/t.5h 

36.GA km h 
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n Eanbh the weight s a bpey af 
mals I.Oka ses 10N COhat will le 
che tueloht oh a bey o mas3tkg- 

ans kg înto kat- 

kq- kg 
Sa, 3 ko %tkq 
ka inte N LAPuStem ) 

kob e |ON 
&e 32 ko=31x1o 20N 

8he weight at aheoly masbkokqls [0 

amasa by weight 2 

am&a Mass remaing_Lthe game 
Mass pey boka em fanth = 20ka en 



5 bwe ioht sf bou on meen becemo 

SK 30 kg bey wtK useigk = 3 

1ON k 
5Ra= Sxlb = SON 

SONweigrt ef he boyon meon is SoN 
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